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two gamma in bcal invariant mass

htemp
= Entries 7684
= L Mean 0.1831
Y 400 — RMS 0.05052
2 L %* I ndf 38.8/44
S L pO -17.27 +3.18
o pt 377 + 55.2
80— p2 -854 + 165.0
i p3 80.34 + 4.98
i p4 0.1641 + 0.0009
B pS 0.01624 + 0.00108
60—
40—
20— L=
» ] ] ] | ] ] ] 1 | 1 ] 1 ] | ] 1 1 | 1 ] 1
{9U5 0.1 0.15 0.2 0.25 0.2

gamma inv mass [GeV]
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Pol2 + gaus fit

P4 fit parameter is the gaussian mean = 164.1 MeV

P5 fit parameter is the gaussian sigma in GeV = 16.24 MeV




One gamma in FCAL and one gamma in BCAL
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2 gamma in bcal with bcal trigger invariant mass
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2 gamma in BCAL with FCAL trigger invariant mass
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Using data with only FCAL trigger from before 12/11/14
Both gammas in the BCAL

Each shower energy > 0.7 GeV

Z-position of vertex between 62 cm and 68 cm

P4 fit parameter is gaussian mean = 161.8 MeV

P5 fit parameter is gaussian sigma = 16.23 MeV



